- SR ETH

g Y

@ 4
1SO 9001
€3 G cﬁ%
w=R
EC Declaraton ¢ US LISTED REGISTERED

of Conformity | R109321 E168542 CERTNO3MEYIS BEFETIT6E  AD04239



225 <z 70 O
IS¥§|]E:||:|-SMCEU§E—J:L_>LJ‘T‘|‘, %ﬁiﬁ&ﬁ%ﬁ’g
. B o SMC-09 | SMC-12 | SMC-18 | SMC-22 | SMC-32 | SMC-40
e—.“ﬁ"‘
C€ =
UL-508 m {
CSA-22.2 S |
|IEC-60947-4-1 f
BS-5424
CNS-2930-C4084
% & M8 & T B Ui| 1000V 1000V 1000V 1000V 1000V
BEEBEEEH Ith(ACT) 20A 25A 32A 50A 60A
# B B % 1a1b 1a1b 1a1b 1a1b 1a1b 1a1b
n] 2 g8 # DIN rail 35mm 35mm 35mm 35mm 35mm 35mm
= B (kg) 0.36 0.36 0.37 0.37 0.48 0.48
KW(HP)| 2.2(3) 3(4) 3.7(5) 5.5(7.5) 7.5(10) 11(15)
34 |1220V
le 9A 12A 15A 22A 32A 42A
KW(HP)|  3.7(5) 5.5(7.5) 7.5(10) 11(15) 15(20) 19(25)
AC3 440V
le 8A 11A 14A A 30A 36A
3-phase 575y KW(HP)| 3.7(5) 5.5(7.5) 7.5(10) 11(15) 15(20) 19(25)
le 6.5A 9A 13A 16A 25A 29A
B O @ # T EE NTH
9F B & Bh i B SMC - D11({RIZE X & Bh iz Bh)
MBI R 2 R~
SMC-09~22 SMC-32~40
M N M
\ \ \
oo | [loTey E
= 1 O
E— ] - 1
=l O o D B O
do o T 5
. | C
BEERE : SRIEZEH
SMC - D11({fl 28 =X g B $2 &h) i
SMC-09 ~ 22145 1PCS
SMC-32 ~ 40\]8E2PCS il = A B c D E = G M N
it S 103 5 10 SMC-09~22| 80 | 44 |87.2| 98 82 | 58 | 35 |M3.5 M4
122 1a+1b  0.034kg
SMC-32~40|83.3 |56.6|94.6|12.6| 8.2 | 58 | 35 |M3.5| M5




mCRHEMN-CERIER W/ A #3T

B R C-090 | C-11D
; : @
UL-508 JET
CSA-22.2 Q C€
IEC-60947-4-1 "
BS-5424
CNS-2930-C4084 .
B R C2-25D
>
aJ I
5 F B 5 B B Ui 1000V 1000V 1000V 1000V 1000V 1000V
EEEEER Ith(ACT) 20A 25A 25A 32A 40A 50A
i B b FFAHE X | 1asf1b 1aBk1b 1asg1b 1asg1b 1aB8k1b 1asf1b
7 # X |1a1b+1albl1alb+1alblilalb+1alb|1alb+1aib|1alb+1alb|/1alb+1alb
Al % 38 # DINral | 35mm 35mm 35mm 35mm 35mm 35mm
A EE(kg)| 0326 0.326 0.326 0.34 0.525 0.55
- KW(HP)| 2.2(3) 3(4) 4(5.5) 5.5(7.5) 7.5(10) 11(15)
220V e 9A 12A 16A 22A 32A 42A
AC3 KW(HP)| 3.7(5) 5.5(7.5) 7.5(10) 11(15) 15(20) 19(25)
440V 8A 11A 15A 21A 30A 36A
3-phase|s75y KW(HP)| 3.7(5) 5.5(7.5) 7.5(10) 11(15) 15(20) 19(25)
le 6.5A 9A 13A 16A 25A 20A
B OB @& # F B NTH
b 3 sOBY O RS CA1ZRT (JEEE0) + CA8ZRFI (A1gE=0)
B AR C-55D C-65D C-80D C-100D
UL-508 JE 7] i x(
CS8A-22.2
IEC-60947-4-1
BS-5424
CNS-2930-C4084
B 5%
CI I U -
B OE B A% B B Ui 1000V 1000V 1000V 1000V 1000V
EEETER Ith(ACT) 60A 80A 90A 125A 130A
JE 71 # 1a+1b 1a+1b 1a+1b 1a+1b 1a+1b
i By i EBh =
A ¥ ®| 1a2b+1a2b | 1a2b+1a2b | 1a2b+1a2b | 1a2b+1a2b | 1a2b+1a2b
Al % 32 &l DIN rail 75mm 75mm 75mm 75mm 75mm
EBSEEE (kg) 1.1 1.1 1.1 1.43 1.43
348 KW(HP) 15(20) 19(25) 22(30) 25(35) 30(40)
220V e 55A 65A 80A 105A 110A
KW(HP) 30(40 33(45 37(50 55(75 55(75
ACT |apy (40) (45) (50) (75) (75)
le 52A 57A B4A 95A 95A
3-phase 575y KW(HP) 30(40) 33(45) 37(50) 55(75) 60(80)
le 46A 50A 53A 72A 76A
@ A @ & = = NTH
gy 1 W B 8 CA1Z5 JEHEL) : CASREI (AIEE)




mNTHRIZE) BB IxEE 5

UL}SOS
CSA-22.2 _ ‘&%ﬁ H*ﬁ imﬁjj
& | ] e
IEC-60947-4-1 . — ” il s -
BS-5424 == "J'B?- /JIL{EQE@ (A) 1@. ﬁﬁ ;5( ﬁ% %g ( kg) *H%ﬂ {%E% $§‘¥\£
CNS-2930-C4084
NTH-05 | 0.35~0.5
NTH-0.75| 0.5~0.75
NTH-105| 0.75~ t.05
3
NTH-145| 1.05~1.45 =
%
NTH -1.9 14~19 2P| =
Vavd
NTH-25 | 1.8~25 C-09D | SMC-09 %
: 1%
11 NTH - 3 24~3 <L
NTH - 4 20~4 0.14 > [1atb
E
NTH - 5 %8~ 5 5
NTH - 6.5 45~6.5 %
R
NTH - 8 & o B e
NTH - 11 8 ~ 11 C-11D %
NTH - 14 11 ~ 14 SMC-12
NTH - 15 10 ~ 15 C-12D
SMC-18
NTH - 17 14 ~ 17
NTH - 21 17 ~ 21 SMC-22
C-18D
NTH - 25 21 ~ 25
NTH-28 | 24~28 e el
C-25D
NTH - 32 96 ~ 32
NTH - 38 30 =48
C-35D | SMC-40 |0.18
NTH-049 B E | NTH - 44 36 ~ 44
NTH - 50 33 ~ 50 C-45D
NTH - 65 43 ~ 65 C-565D
NTH - 80 54 ~ 80 C-65D N/A | 0.43
C-80D
NTH - 96 64 ~ U6 & A000
NTH-126 | 85~126 C-100D




m Sk ER

MSﬁ:«)ﬁEﬁ%‘éF’aﬁEﬁ (Faﬁﬁiﬁl_]) MSO-S-09
220V 440V 575V S
EamEER KW | HP | A | KW| HP | A | KW| HP| A
MSO-S-09 22 | 3 | 9 |37 | 5 | 8 | 37| 5 | 65 0.5
MSO-S-12 3 | 4 |12 |55 75| 11 |55 | 75| 9 0.5
MSO-S-18 37 | 5 |15 | 75 | 10 | 14 | 75 | 10 | 13 0.51
MSO-5-22 56 |75 [ 22+ 11 | 15 | 21 | 11 | 15 | 16 0.51
MSO-S-32 75 |10 | 32 | 15 | 20 | 30 | 15 | 20 | 25 0.63
MSO-5-40 11 |15 |42 | 19 | 25 | 36 | 19 | 25 | 29 0.66

m CHRIER

S 3 S T | % |
MS3Z i E kLR (B A MSO-C-09D #% MSO-C2-09D
AC3 - 34 220V 440V 575V
EE (kg)
A= mEYER KW | HP A KW | HP A KW | HP A
MSO-C-09D 0.49
e e— 22 3 9 5 7 5 8 8.7 5 6.5 087
MSO-C-11D 0.49
T 3 4 12 | 55 | 75| 11 | 55 | 7.5 9 T
BIS-L - (&L 4 55 |16 |75 | 10 | 15 | 75 | 10 | 13 L
MSO-C2-12D . : " 0.87
MSO-C-18D 0.52
MEO.CoABE 55 |75 | 22 11 15 | 21 11 15 | 16 Soh
MSO-C-25D 0.67
MS6 5. BED 75 | 10 | 32 15 | 20 | 30 | 15 | 20 | 25 1 55
MSO-C-35D 0.69
SEeweaT 11 15 | 42 19 | 25 | 36 | 19 | 25 | 29 158
MSO-C-45D 1.70
T 15 | 20 | 55 | 30 | 40 | 52 | 30 | 40 | 46 & o
R el sif ) 19 | 25 | 65 33 | 45 57 | 33 | 45 | 50 LA
MSO-C2-55D 2.84
MSO-C-65D 1.70
LGB BED 22 | 30 | 80 | 37 | 50 | 64 | 37 | 50 | 53 S B
MSO-C-80D 1.90
VTR T 25 | 35 |105 | 55 | 75 | 95 | 55 | 75 | 72 L
MSO-C-100D 1.90
BB EEAT00 30 | 40 | 110 | 55 | 75 | 95 | 60 | 80 | 76 =
| XY — /A BEE
s aRy A R iR nRaRI A 3% B R R R S s A R iR s R RT YRS

MSN100-C-55D MSN100-C-55D-PB AR E L

4



= I 3 I 1 Ht
pCRINER-CHTREMEBSNDIINE RELRRT
CA9
B mm S A B S
\F A .
—] T A ?
‘1(__1— /]
l'____'l | Q /
E He—— |
fl — A H G
4
i__f____] | [ [ —
CA1 ) B
Lr ) mEEs < B & i
5 - BRBHIEE c ﬁ . | L2
F
B 3R A|lB|C|D|E|F|G|H|K|M|N|Q|R]|S
C-09D /11D /12D |69.3 | 453 | 79 8 8 11026/34.3| 53 |56.9 | M3.5M35| 35 | 385 M4
C-18D 6931453845 | 10 10 1026|345 | 53 |569| M4 (M3.5| 35 | 385 | M4
C-25D 77 |565(955| 10 10 | 125 | 40 55 68 | M4 (M3.5| 35 |385| M4
C-35D 77 | 56,5100 | 12 8 125 | 40 55 68 | M4 |M3.5| 35 |385| M4
C-45D/55D/65D| 129 | 75 | 115|134 | 8 162 | 60 | 116 | 87 | M5 |M3.5| 75 |385| M5
C-80D /100D 129 1817|123 |16.3| 8 175 | 60 | 116 |93.3| M8 |[M3.5| 75 |38.5| M5
NTH - 0.5 ~ 44 N.O. Contact N.C. Conlact Bfz . mm
. terminals terminals
Setting (M3.5 scraw) (M3.5 screw)
current
button
Setting \\ A—T—\
lever
Test & Rest Load side E
button terminals |
S =
N - i
Ouon ”O‘\Setting OHOHO ©
|
,_.UUUUU._ I\j;ir&l-\u!o
| 44 l button | “I_
NTH - 50 ~ 126 Setting N.C. Contact Ed ‘[ﬁ mm
lever terminals
Test & Auto (M3.5 screw)
button
?7 I 1 L I I I [ 29 11
o=y s
lepemel G )
E = A O 0 O - .
il @
[ © O O
0 n [ 12] 28 M4 screw
. [1 [ N 1 mtg. holes
\
of main circuit (z?gzlc‘?rew)

(M5 screw)



e EZBEMF  CRIEREH

CAf JRE LB,

= Sh &t Fz 2 EHEEE R

CA1 - D20 2a

CA1 - D11 1a+1b

CA1 - D02 2b C E

CA1 - D40 4a C-09D ~ 100D

CA1-D31 | 3a+1b o

CA1-D22 | 2a+2b

CA1-D13 | 1a+3b N

CA1 - D04 4b CA1 - D11 CA1 - D40
CA8 flZ: X am Bh 5 &L

EReE | B | GmEBE | R p

CAS8 - D20 2a ] = 1

CAS - D11 1a+16 | C-09D ~ 100D | (§P CAS8 - D11 A

CAS - D02 2b o us 1

CA9 A E R & iH

B oh Fa 1E Y& B R ROaa
A’
CA9 - D02 2b | C-09D ~ 100D
MS 3zt = i b Bl 0 B RS
MSO-S-09~40 o olzol| O |lo
| TUSER| B |°F] -
. ; _ O ol O ||1©
a O FHo o [l ol O llo
e q O - [:S—H% I | E
= B 0 ————
19 I (D =
E
L
. }g‘ - | |H HI_]_
T ) Bl 58 A|lB|C|D]|E
MSO-C-09D | 79 | 93 |453| 44 | 128
| MSO-C-11D | 79 | 93 (453 | 44 | 128
MSO-C-12D | 79 | 93 |453| 44 | 128
MSO-C-18D |845| 93 |453| 44 | 128
B3 AlB|[c|D]|E MSO-C-25D |955|105| 57 | 44 | 135
MSO-S-09 |87.2| 93 | 44 | 44 | 141 MSO-C-35D | 100 | 105 | 57 | 44 1375
MSO-S-12  |87.2| 93 | 44 | 44 | 141 MSO-C-45D | 115 | 112 | 75 | 77 | 185
MSO-S-18 [87.2] 93 | 44 | 44 | 141 MSO-C-55D | 115 | 112 | 75 | 77 | 185
MSO-S-22 [87.2| 93 | 44 | 44 | 141 MSO-C-65D | 115 | 12| 75 | 77 | 185
MSO-S-32 |946| 93 |566/| 44 | 144 MSO-C-80D | 123|112 | 85 | 77 | 185
MSO-S-40 |946| 93 |566| 44 | 144 MSO-C-100D | 123 [ 112 | 85 | 77 | 185




